EPTE] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.
5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimura-rd.com

K] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimurca-rd.com

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

EP ]2 OSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimura-rd.com

EPTE] YOSHIMURA

RESEARCH&DEVELOPMENT OF AMERICA, INC.

5420 DANIELS STREET STE A, CHINO CALIF. 91710 - (800) 634-9166 - (909) 628-4722 - FAX (909) 591-2198

www.yoshimureca-rd.com

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.

Butt Connector Installation:

1. Strip wire ends 1/4” - 1/2” and insert into
BN-SSS-22-18, butt connectors.

2. Center the spliced wire ends in the middle and
using a heatgun or lighter, apply heat evenly on
the outer edges of the butt connector to shrink
and hold wires in place.

3. Making sure that the stripped ends are centered,
heat the center of the butt connector evenly until
the solder begins to liquify.

4. Allow to cool completely and tug both ends of the
wires to verify that connection is secured.

Scan for link to butt connector instruction video.




sbury dug alipy

|

sml 1OUSEM leubig wing Q37
G ‘uoiouny
spu3g Q_.:m Jadoud 1oy 3o9yd pue [eubis uin} }08UUOD-8J PUE |[E}SUI-9Y "9

'$10}09UU0D Jng BuljieIsul 810joq JnuU pue Jaysem
ybBnoJiy} salim apl|s 0} aINs ag "198Ys JO apIs 9sIanal
uo suononJsul Buimoj|o) s10308uu09 Jng palddns |lejsu| ‘g

"SaUIM
— |leubis uin} ¥003s 8y} uo saum (-) anebau pue (+) aAlisod

auIwWJa}ap 0} }$8) pue J0}08UU0I [Bubis UIN} }08UU0IDY ‘{7
"% — Y, spud aum dus ¢

"a|qissod se g|ng 8y} 0} 8s0|0 Se salim [eubls uiny 00}
8y JNd “10}08UU0D [eUBIS UIN} }00}S 8Y} 8SNaJ 0} JOpIo U] “Z

lleg J8pjos

"s|euBis uiny %00}s 8y} aAoWY °|

sbury dug alipy

|

2

NN Jaysepn

leubig win Q37

=
spu3 duis

‘uoiouny

Jadoud 1o} ¥o8yd pue [eubis uin} }oaUUOD-81 PUE [[elSul-8Y 'Q
'$10}09UU0D Jng Buljieisul 810jeq JnU pue Jaysem
ybBnoJiy} salim apl|s 0} aINs ag "198Ys JO apIs 9sIanal

uo suononJsul Buimoj|o) s10308uu09 Jng palddns |lejsu| ‘g
— "SIIM
|leubis uin} %003s 8y} uo saum (-) anebau pue (+) aAlisod

aulwWJa}ap 0} }$8) pue J0}08UU0I [BubiS UIN} }0BUU0IDY ‘{7
"% — Y, spud aum dus ¢

"a|qissod se g|ng 8y} 0} 8s0|0 Se salim [eubls uiny 00}
8y JNd “10}08UU0D [BUBIS UIN} Y00}S 8U} 8SNaJ 0} JOpIo U] “Z

lleg J8pjos

"s|euBis uiny %00}s 8y} aAowdY °|

10D PA-BANIIYSOA MMM
8612-165 (606) XV - 22.-829 (606) - 9916-7€9 (008) - 0LLL6 4IT¥D ONIHO 'V 1S 13IHLS STIINVA 0ZrS

"ONI ‘VOIMINY 40 LNINJOTIAIABHONVYISTY

VINWIRISOR

10D PA-BANIIYSOA MMM
8612-165 (606) X - 222-829 (606) - 9916-€9 (008) - 01216 HITYO ONIHO ‘v 3LS 1ITMLS STAINVA 02vS
"ONI ‘VOI¥3NY 40 LNFWJOTIAIABHOHYISIY

VINWIRISOR

sbury dug alipy

|

sml 1OUSEM leubig wing Q37
G ‘uoiouny
spu3g Q_.:m Jadoud 1oy 3o9yd pue [eubis uin} }08UUOD-8J PUE |[E}SUI-9Y "9

'$10}09UU0D Jng BuljieIsul 810joq JnuU pue Jaysem
ybBnoJiy} salim apl|s O} aINs ag "198Ys JO apIs 9sIanal
uo suononJsul Buimoj|o) s10308uu09 3ng palddns |lelsu| ‘g

"SUIM
— leubis uin} %003s 8y} uo saum (-) anebau pue (+) aAlisod

Y, — v, spud aam du)s "¢

"a|qissod se g|ng 8y} 0} 8s0|0 Se salim [eubls uiny 00}
8y JNd “10}08UU0D [eUBIS UIN Y00}S 8Y} 8SNaJ 0} JOpIo U] “Z

lleg J8pjos

"s|euBis uiny %00}s 8y} aAowY °|

sbury dug aJipy

|

/ SAL Jaysepn [eubis winl 37
G omuns
spu3g Q_.:m Jadoud 1oy 3o9yd pue [eubis uin} }08UUOD-8J PUE |[E}SUI-9Y "9

'$10}09UU0D Jng Buljieisul 810joq JnuU pue Jaysem
ybBnoJiy} salim apl|s O} aINs ag "198Ys JO apIs 9sIanal
uo suononJsul Buimoj|o) s10308uu09 3ng palddns |leisu| ‘g

'SaUIM
— |leubis uin} %003s 8y} uo saum (-) anebau pue (+) aAisod

auIWLIB}OP 0} 1S9} PUB J0J0BUUOD [eubis UIN} J0BUU0DSY 't

aulwWJa}ap 0} }$8) pue J0}08UU0I [BubiS UIN} }08UU0IDY ‘{7
"% — Y, spud aum dus ¢

"a|qissod se g|ng 8y} 0} 8s0|0 Se salim [eubls uiny ¥00}s
8y JNd “10}08UU0D [BUBIS UIN} 00}S 8U} 8SNaJ 0} JOpIo U] “Z

lleg J8pjos

"s|euBis uiny %00}s 8y} aAowdY °|

10D PA-BANIIYSOA MMM
8612-165 (606) XV - 22.-829 (606) - 9916-7€9 (008) - 0LLL6 4IT¥D ONIHO 'V 31S 13IHLS STIINVA 0ZrS

"ONI ‘VOIMINY 40 LNINJOTIAIABHOUVYISTY

VINWIRISOR

10D PA-BANIIYSOA MMM
8612-165 (606) XV - 222829 (606) - 9916-€9 (008) - 01216 HITYO ONIHO ‘v 3LS 1ITMLS STAINVA 02vS
"ONI ‘VOI¥3NY 40 LNFWJOTIAIABHOHYISIY

VINWIRISOR




	Page 1
	Page 2

